| N of simulated tracks vs dxy |

10*

10°

10?

10

0.95

........................................................................

..................................................................

I'F'IIIIIIl

i

...._{................... R
=

L 7T

55-20-15-10 -5 0 5 10 15 20 25

N of associated tracks (simToReco) vs dxy |

NEu N

0.9

....................................

5 20-15-10 =5 0

510 15 20 25

—=— DQM_TT__mkFit_

N of simulated track

10*

10?

1.0

0.95

10

—e— DQM_TT__mkFit_BDT_

30 —20 -10 0 10 20 30




	Contents
	Page 1


